A & 0l & A & F Al
20218 & =04k LBHSIH LAS ~ NAH
SN YAS
M JAS HFHAUX WEHIT ==
Sl YMS BHAHA 23 SREED
SA - BB B (BA) - MM - BHES Ol &+ o4 il 2
RS 700,016 682,414 17,602
QS FHIAX WERT =5 604,936 588,734 16,202
LS HEAMHIA L35 604,936 588,734 16,202
HEAMHIA 2229 238,858 214,343 24,515
101 @14 dl 15,982 16,767 AT785
4 D12t ZE2XREES 15,982 16,767 AT785
OoNsd €52x AR 15,982
e = 69,7603 x1H x1652 11,511
—REFsrE 69,7603 x 1«35 2,442
—E8= 220,000 +7& 1,540
— 3= 69,7603 +x7& 489
201 et 222,276 189,976 32,300
01 At 2teltl 47,656 27,800 19,856
O&FIIZHEE L AME == 700,000 42 DI 2,800
OARIII 28 2258 2¥
1,500,000& =12 18,000
OMERES 7¥ 5,000,000 »14 5,000
OXs3HIAE |RA22 118,000& =128 1,416
O&F=I| MEEZ 40,0003 » 128 »30H 1,440
O&AMZe 225 P2 5,000,000& » 14 5,000
OFAX & MHEESIIIA Z4 S|
8,000 25 x2H 128 4,800
OHAZE 2 ZzHES 2
600,000 12 7,200
OssoagIALAY 257
1,000,000 «2CH =1 2,000
02 =224l 174,620 162,176 12,444
O&MAS 1,200,000& 14 1,200
OMBA & IE2ES IS
9,500,000& x12& 114,000
ORdEs AIEE 30,000 122 360
Ouot=ER3 280,000& »12& 3,360
OSEE €523 4,500,000& 14 4,500
OAdgsale A2 4,000,000 2CH 1 8,000
OFAXE HsX2el 11,000,000& »2CH 1A 22,000
OM&EXNE FA2e 15,000, 000& =1 15,000
OXsad=Nxeg A2 4,000,000& x 14 4,000
OSEUIALZANAE RXE+
1,100,000 =2CH » 14 2,200
301 LA S 600 600 0
09 SHALAHIXI &3 600 600 0
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SN YaE
M JAS HFHAUX WEHIT ==
SRl UAS HIMHA 23 CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O=248%s € 2E BA =4
600,000& x13] 600
FoEol Masd o 145,078 154,391 A9,313
101 @14 Hl 88,878 82,291 6,587
04 JIZHHZ2XNHEE S 88,878 82,291 6,587
OAF2ed 22 26,628
—Jl=s 69,7603 x 18 252 17,580
- S5 69,7603 »1H 532 3,698
- 5222=E 104,640 1 *x24 2,512
- =g 69,760 x 1P 123 838
- BE= 166,600 x1H «12& 2,000
OZL(DAZA)ATH 2122 8,000,000 13 8,000
OZU =HIo = 4,200,000%43] 16,800
OStz o sz B2 o2
1,700,000& =33l 5,100
O3.1s¢& =8 M= o9=2FY 450,000& x33| 1,350
O&EEE FEHMA A2 1,500,000& *43] 6,000
OJtzste & HEMHA A2
5,000,000& 53] 25,000
201 Let24E] 16,200 14,100 2,100
01 At 22l 6,000 5,000 1,000
OUMANY SIBA 222 7Y
6,000,000 » 14 6,000
02 2324l 10,200 9,100 1,100
OYaAE st&H4A X 2= 3,000,000 1= 3,000
OLHANFE &ot=& 2= 600,000& »12& 7,200
206 M= Hl 23,000 22,000 1,000
01 =4l 23,000 22,000 1,000
OYBEH HER AT WEPY
10,000, 000& 14! 10,000
OBU(ZARA)AN WR7L
10,000, 000& 14! 10,000
OAJHX s Fx=HAH M2+
3,000,000 » 14 3,000
301 LEHZ 7,000 8,000 A 1,000
01 MEIBEZE+6l= 7,000 8,000 1,000
ONMLSEMN 2 o Al ZeltHaX LXK
A 7,000,000 1 7,000
401 Al HIZ 201 I 10,000 28,000 A 18,000
01 A& HI 10,000 28,000 A 18,000
Of/Ig+== MAH X& 10,000, 0002 14! 10,000
THoH Ol & ==0l=3& off & 165,000 160,000 5,000
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SN YAS
M JAS HFHAUX WEHIT ==
Sl YAs HIMHIA 25 CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
201 Le-2d| 15,000 10,000 5,000
01 At 22l 15,000 10,000 5,000
O oilegr & =7 &FH Xz
15,000, 000& =1 15,000
401 Al HI K 201 I 150,000 150,000 0
01 A& Hl 148,380 148,380 0
OdslitE =2 HHIAY
12,000,000%98.91% 11,870
Oz0tel oiEotS =2 HHIAY
12,000,000%98.91% 11,870
O2Fed HAlZ2 =2 ZFAE
12,000,000%98.91% 11,870
OSF=0t2 =2 HHIAY
10,000, 000%98.92% 9,892
OZEd 3= =2 ZHIAME
12,000,000%98.91% 11,870
OXIL0LE =2 HUIAY
20,000, 000%98.92% 19,784
Oas0tEe 32Y EsAY
12,000,000%98.91% 11,870
OFoel s2 ZFHAY 10,000, 000%98.92% 9,892
OZas MELA HMelAY 29,678,000% 14 29,678
O S MollAZ X7 A
19,784,000% 14 19,784
03 Al 2 0HHI 1,620 1,620 0
OTHolioll g =2l==& o Z
150,000, 000& *1.08% 1,620
FOXXHEH 2222 6,000 10,000 A 4,000
201 Let24E] 6,000 10,000 A 4,000
01 At 2teltl 5,000 8,000 A 3,000
OFUXXIHE 2tel 5,000,000& » 14 5,000
02 =224l 1,000 2,000 A1,000
OFQUIXHEEH 299 1,000,000& 14 1,000
A28 THOH Ol e 50,000 50,000 0
401 Al HIZ 201 8] 50,000 50,000 0
01 A& HI 49,460 49,460 0
OL72 THOH Ol 2 AL 50,000, 000& *98.92% 49,460
03 Al 2 THHI 540 540 0
OL72 THOH Ol AL 50,000,000 *1.08% 540
HY2FZH (LAS) 95,080 93,680 1,400
Jl= &l 95,080 93,680 1,400
2as Jl=&| 95,080 93,680 1,400
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SN YAS
B #NLARY(YAS)
@2 Jl2&tl (e &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
201 Bt A | 30,140 29,200 940
01 AP 2t 2l Yl 25,140 25,200 A 60
OYHALRE=X 19,008,000& =1 19,008
OYHA L= (S ) 4,752,000& =14 4,752
Oga Y 60,000% 1 23! 1,380
02 33294l 5,000 4,000 1,000
OFANSA & 22 5,000,000« 14 5,000
202 O B 50,520 50,520 0
01 2L Y| 5,280 5,280 0
OgdHARFA 240,000& x22H 5,280
02 AN Y| 45,240 45,240 0
os% 200,000& x1H x12& 2,400
O=f8%& 0ldt 170,000& x21H x12& 42,840
203 &R =&H| 13,420 12,960 460
01 J|2A2HLRE=XH| 7,500 7,000 500
OJ|Z22dgR =AY 7,500,000& 1 7,500
02 HRJAE R =&Y 1,120 1,160 N40
OFAINNMAR2FEY| 40,000& x28YH 1,120
04 EANSHLRE=AH| 4,800 4,800 0
ORANSELERF=AH| 400,000& 128 4,800
405 XtabE SHI 1,000 1,000 0
01 AL 2B F SHI 1,000 1,000 0
Osd g2 1,000,000& 1 1,000
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A & 0l & A & F Al
20218 & =04k LBHSIH LAS ~ NAH
M HSe
M FESH F0HAX WERKZA 7=
& ¥SYH AFMHIA 25 )
CB SR (B) - KIRAY - BES Ol &+ o4 il 2
SRl 489,519 471,725 17,794
FE2H WX WERIA =5 430,959 415,565 15,394
HSH I MU A 235 430,959 415,565 15,394
HEAMHIA 2229 122,903 103,261 19,642
101 @14 dl 5,581 2,749 2,832
4 D12t ZE2XREES 5,581 2,749 2,832
OBIEA ol 2 E52 el ARy
69,7603 x2H 403 5,581
201 LBt 116,722 99,912 16,810
01 At 22l 32,368 13,288 19,080
O&JIIZdE ¥ ME F=3 500,000 *42 DI 2,000
OAMRIIJl 28 A8 #&  480,000& 128 5,760
O=Xs&a 23=28 +2 200,000& 128 2,400
OMEES ¢ 300,000& »12& 3,600
O&F=Il MEZ 132,000& *43] 528
O3JI8ZEI Uz 120,000& =2CH 128 2,880
OZZH =25, HIIS 00 7Y
1,000,000& »12& 12,000
OFA & HAz2e 3 78 100,000& 128 1,200
Ogtoil &Hl &8 & 2 2,000,000 »14 2,000
02 =224l 84,354 86,624 A2,270
OMEH HIIRS 900,000& »12& 10,800
ON2s I3 2,000,000& x12& 24,000
OANRA =223 80,000& x12& 960
ORdEs AEE 200,000& 14 200
OAMS A R01H3H 32 90,000& x12& 1,080
ORu= 253 2,000,000& x14 2,000
OBARA CCTVSE A &2l 88 30,0003 «12& 360
OFA & =X3s2 A5 250,000& *43] 1,000
OAdgsls A2 5,000,000 » 14 5,000
OontsgdsArdgd o223 30,000& x12& 360
ObtsgsAAE X2l 8,000,000& » 14 8,000
OsXxg s2el 4,000,000& x 14 4,000
O=2Xsl& &8JIe3 800,000& »12& 9,600
O=Xga 29 & 2g| 1,000,000& »12& 12,000
O=Xlzgla SHes 50,000& 123 600
O=Xag & Ro1dd 32 80,000 12& 960
OsSXzga MII&H ord el
110,000& = 12& 1,320
O=sXsa 224832 400,000& x13] 400
O=Xa & s2J |RX2cldl 132,000&«128 1,584
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2N H2o
o ¥SS HONK WERD 25
(=)

Sol: HEO HIAMUIA A ECR-E)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
O=sXsalz 521 HI1ZAHl  130,000& *13] 130
301 LPEXF 600 600 0
09 HALAHIX &S 600 600 0
OFIEYE S 2F sM =1
600,000& » 14 600
FoEol MEsH M 47,300 59,220 A 11,920
101 @124 dl 3,500 3,500 0
04 12t Z2XREES 3,500 3,500 0
OAIJIAI 2228 2¢ 500,000& *33] 1,500
Os&Z2FHl o2 1,000, 000& *23| 2,000
201 LB-2d | 1,000 1,000 0
02 3322l 1,000 1,000 0
OFSY MEHEY R 2|
1,000, 000& 1 1,000
206 M= Hl 14,000 14,000 0
01 =8l 14,000 14,000 0
OAIJIAI 22 =48 M=l 10,000, 000& » 14 10,000
OBHEAN & EF3H 22 4,000,000& x 14 4,000
301 LA Z 3,800 3,720 80
01 MI2ZE 6= 3,800 3,720 80
Ox=2S i HIL2 HAAY
20,0003 #2353 *95Jt 3,800
401 AIEHIZ 28I 25,000 37,000 A 12,000
01 A& Hl 25,000 37,000 212,000
OfIg+== HMA XA 5,000,000 » 14 5,000
OMLters & AID] WA 20,000,000 x14& 20,000
THoH Ol ==0l=J off& 110,000 108,000 2,000
201 Let24d]| 10,000 8,000 2,000
01 At 22l 10,000 8,000 2,000
OMoloeg = =23&H JX=
10,000, 000& =14 10,000
401 Al B2 2B 100,000 100,000 0
01 A& HI 98,920 98,920 0
OZuits s+=2 ZH3A
20,000,000& *98.92% 19,784
OsutotE 28 =BHIH ALY
20,000,000& *98.92% 19,784
OZE0E s+=2 ZHI3AM
20,000,000& *98.92% 19,784
OYA0E ot A=ZA
20,000,000& *98.92% 19,784
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2N
X ZH -
L= B

el

=4
S ZOAX UERHI #*=
SH HZ

HHNHI A 23

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OZE0s 52 ZFSA
20,000,000& *98.92% 19,784
03 Al 2 THHI 1,080 1,080 0
OMBHolY Zoi=gAe =7
100,000,000& *1.08% 1,080
28 THoH ol 2 30,000 30,000 0
401 Al HI K 201 I 30,000 30,000 0
01 A& HI 29,676 29,676 0
OL72 THOH Ol AL 30,000,000& *98.92% 29,676
03 A& =2 THHI 324 324 0
OL72 THOH Ol AL 30,000,000& *1.08% 324
=g 29 120,756 115,084 5,672
101 @124l 60,556 57,884 2,672
04 JIZHHNZ2Z2XNSE+ 60,556 57,884 2,672
O me=sg 2ype ARy 60,556
- JlZ2s 69,7603 x252 x 123 x2H 41,856
—FE4Y 69, 7602 ¥52% +2 7,256
—Qlx=g 69,7603 x26 L x2H 3,628
— BE S| 600,000& 23| x2H 2,400
—ZU2ZRE 13,0803 *x3Al 2+ %138 5,416
201 L2l 60,200 57,200 3,000
01 At 2t 2l 6,000 6,000 0
OX2=sg 2g 22 600,000& 102 6,000
02 =24l 54,200 51,200 3,000
OHIIRS 2,000,000& x12& 24,000
O=ER= 1,500,000& »12& 18,000
O&st & IHYRS 50,000& 123 600
Oxz==E A5 300,000& *23|x108 6,000
OJIEtR = 50,000& 123 600
OX=2==2g AMEFH |X 5,000,000 «1& 5,000
HY2AZH (HSH) 58,560 56,160 2,400
JlEZ3l 58,560 56,160 2,400
HEH Jl=23| 58,560 56,160 2,400
201 LBH2d| 17,040 17,040 0
01 At 2t 2l 14,040 14,040 0
Od gR=d 11,232,000& 14 11,232
OHE ARFA(SHl) 2,808,000& x14 2,808
02 =224l 3,000 3,000 0
OFEMSKA &L 22 3,000,000 x14 3,000
202 oddl 30,000 27,960 2,040
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o
HHSHAAH (BE2H)
Jl2&dhl (e &)
SAH-EB .S (3H) - HEAY - BE2 il HDS2
01 2LHHI 3,120 3,120 0
OHHE gRFA 240,000& *13Y 3,120
02 S HN Y| 26,880 24,840 2,040
OHE 200,000& x1H x12& 2,400
OfHEO|at 170,000& x 12 = 12& 24,480
203 R =&lY| 10,520 10,160 360
01 J|22I PR =AY 7,000 6,600 400
o4 7,000,000 *1H +x14 7,000
02 d R R =AY 520 560 AN 40
O Jtat 40,000 *13H 520
04 ENESIHRF=AY| 3,000 3,000 0
OfMed 250,000& x12& 3,000
405 XHakF SHI 1,000 1,000 0
01 A&t = S F SHI 1,000 1,000 0
OHE g2RFA 1,000,000& 1 1,000
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M0 M0 MO

0o 02 0o
2re .
0% Oi
=

X HWEHZA #*=
=l e

SH-HH . B(SH) - HBAMY - B2 O 4t 0t il 2
01 AFR2 22l Yl 10,000 8,000 2,000
OXHal oy & =37 &Hdl dx= 10,000
401 AIEHIL 20| 100,000 100,000 0
01 A& bl 99,100 99, 100 0
OZA0t2 THOH Ol AN 9,600
OA0FS THoH Ol 2 AFE 9,900
OUADtS THOH O A 9,600
OO0 0t=S Mol gAY 11,000
O220t= THoH O A 11,000
O&AHOIS Mo & A 9,600
OAlD|0tS THOH Ol ALY 9,600
Ot 02 & Z HHI S A 19,200
O&N0I2 =2 HHlISA 9,600
03 Al& 201 Y] 900 900 0
OO FoSAAY £7
100,000,000%0.9% 900
2 THoH ol & 30,000 30,000 0
401 Al HI L £ 0HHI 30,000 30,000 0
01 A& HI 29,676 29,676 0
OAAZ THOH O Z A 30,000, 000& *98.92% 29,676
03 A& 20HYI 324 324 0
OALA2 THOH O E A 30,000, 000& *1.08% 324
Aes=2E 29 42,937 37,940 4,997
101 @121l 12,557 7,560 4,997
04 JI2ZtH 22 XNHEE =+ 12,557 7,560 4,997
oxe=sy el 2=y
69,760 15 x1H x12& 12,557
201 et A bl 25,380 25,380 0
01 AFR2 2t 2l Yl 3,600 3,600 0
O=sEgaA&e 300,000& x12& 3,600
02 332494l 21,780 21,780 0
OodIIe=2 1,000,000& x12& 12,000
(OES=N == 150,000& = 12& 1,800
OfdeUSAMNES 10,000& =12& 120
O8I ANEZ 45,000& * 128 540
(OFSEkRTA= 10,0003 x12& 120
o= A= 300,000& *23| x12& 7,200
401 Al HI L 2T 5,000 5,000 0
01 A& HI 5,000 5,000 0
o2 == FA.B= 5,000,000 5,000
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A & O & A B Ml M
2021H = =0l &k LB A LAFT ~ RAH
SN dE
M AEH FOAUX HERD #*5
Sl NBY BHAHA 25 (S &2)
A - ER(EN) - AR - B of & o4 SSa HIDZ2
AEH 376,537 416,235 A 39,698
AEH HOUXX WERKD 25 317,137 357,195 40,058
AEH HAMHIA 25 317,137 357,195 240,058
A AMHIA 2229F 67,342 61,968 5,374
101 @12 bl 1,500 1,100 400
04 DIt 22 XS+ 1,500 1,100 400
OHIA &3 3Hl A2Y 1,500,000& 1,500
201 LBt2 65,242 60,268 4,974
01 At 22l bl 13,656 9,182 4,474
O&FJinds & M2 =8 450,000& 42| 1,800
OBARx )| MEBE 93,000 x12& 1,116
OAMRI1Il 28 225 7Y
2,000,000& 4= )| 8,000
OFAAS 240,000& *52 1,200
OXsSZHIAIE E CCTV |2
120,000& = 12& 1,440
OFAL HIIUHFH =2 100,000& =13l 100
02 3524t 51,586 51,086 500
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oxnzs dlles 29,000,000 29,000
Ossstad dJIes 800,000 800
O*=ER3 70,000 x 128 840
Oz &€&5R= 250,000 =123 3,000
OBAEx A0S 5L 12,100& =122 146
O4dgstE 7A2c 5,000,000& «1¢& 5,000
O%XEE =X |FX22l 3,000,000 1 3,000
Ood=dIl sX2el 900,000 900
O3ssad 2a=+H 500,000& 500
301 LBEH S 600 600 0
09 HAAHIXES 600 600 0
O=ZEY3 S A48 &AL =&
600,000& 12 600
ZOIHO MEEY A 48,259 95,956 A 47,697
101 12 8] 26,579 30,276 A 3,697
04 JIZAtNZ22XNSES 26,579 30,276 A 3,697
OxZxd 2URY
69,7602 «12% x62/+200,0002 5,223
Ossstad dfYy 69,7602 x5 x33| 1,047
OAE &4 & 22 A2Y
69,760% 18 »63| x122+100, 000 5,123
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OHE gR=2 11,232,000& =14 11,232
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02 3322l 2,000 2,000 0
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01 S LHOIYI 3,120 3,120 0
OHE gR=& 3,120,000& » 14 3,120
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01 JI122E 2= 7,000 6,600 400
OsE =¥ 7,000
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SN 48
M 440 KK WEHD 25
SRl S48 HIMHA 23 (S &2)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OE=0 MEN=SZ2d 2o 2 age &9
0l 15,272
A=) 69,760 x 212U +8I & x1H 11,720
—SsF5sY 69,760 x36F=*1H 2,512
— 40 BE2 130,000& «8J4 & 1,040
206 M = dl 8,000 12,000 A 4,000
01 X2 4l 8,000 12,000 A4 ,000
OAIIX 2224 M 7 8,000
301 et ™M= 2,880 2,880 0
01 Al E& A 2523 2,880 2,880 0
O3 A IS HAAY 2,880
401 AlEHIZL 2 0HY| 15,000 35,000 A 20,000
01 Al&Hl 15,000 35,000 A 20,000
Of&e4+=2 HA 5,000
OZZLXZHE MY 10,000
Moo F=2l=2 & 110,000 108,000 2,000
201 et 9| 10,000 8,000 2,000
01 AP 2t 2| bl 10,000 8,000 2,000
OMadll og & =232 &Hl = 10,000
401 AIEHIZL 2 0HY| 100,000 100,000 0
01 Al&H| 98,921 98,920 1
OEXl =2 ZAl 15,000, 000%98.92% 14,838
OFAHE =2 ZLEHZA 20,000, 000%98.92% 19,784
OF0ts o+ AUl Z A 12,000,000*98.92% 11,871
OUgorS =2 HHIZ2AH
20,000,000%98.92% 19,784
OXXl Aotd HHlISAH 15,000, 000%98.92% 14,838
Og&0ts ot LA ZBA 8,000,000%98.92% 7,914
OZ=g0t2 Moo HHAL
10,000, 000%98.92% 9,892
03 AlE 2 HH] 1,079 1,080 |
OTHoll ol g =0li=2 1,079
AR E THOH OB 30,000 30,000 0
401 Al HI L E0HHI 30,000 30,000 0]
01 Al&H| 29,676 29,676 0
OALTFHE THOHO BEAFSY 30,000,000 x98.92% 29,676
03 AlE 21| 324 324 0
OAMTHE THOHOI BHAFSY 30,000,000& x1.08% 324
HA40 MEHss@ 22 29 6,560 6,560 0
101 e1214| 5,000 5,000 0
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M dHH H0HAX WEHKHIT ==
Helr d+8 dFHANH A 23 (Sl & &)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
04 JIZHHZ2XREES 5,000 5,000 0
ONE3d H=z=&yg o=2Y 3,000,000& 3,000
OMSZE ZTZ+ BNHY o2y
2,000,000& 2,000
201 et 1,560 1,560 0
02 2324l 1,560 1,560 0
OXIIRS 100,000 1200 & 1,200
Ofdt+=E 23 30,000& 1201 & 360
HY2FZH (d4H) 58,560 58,200 360
Jl2 &3l 58,560 58,200 360
A0 J|22Hl 58,560 58,200 360
201 ¢er24l 17,040 17,040 0
01 At 2t 2l 14,040 14,040 0
OHE g2=2 11,232,000& 14 11,232
OHE ARFA(SeHl) 2,808,000& x14 2,808
02 =224l 3,000 3,000 0
OFASA & 2e] 3,000,000 » 14 3,000
202 04l 30,000 30,000 0
01 = LH o4 1l 3,120 3,120 0
OgHd g2=a 240,000& »13H 3,120
02 M0 26,880 26,880 0
ooz 200,000 x1H «12& 2,400
OfHZ 0ldt 170,000& = 12H 128 24,480
203 ¥ S =&l 10,520 10, 160 360
01 JIZ2Z YR 7,000 6,600 400
OoJ|1z=2d 7,000,000 » 14 7,000
02 AP R =& 520 560 A 40
OZ &ALt 40,000 13 520
04 FEANSEHE=LH 3,000 3,000 0
ORNEYZ 250,000& »12& 3,000
405 XHoHF S HI 1,000 1,000 0
01 et ESFH S 1,000 1,000 0
OHE g2=2 1,000, 000& 1,000
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N = 0 &8 AFH Y & A AN
20218 = 20l A LB H LAS ~ XIATH
A a0
M 240 FOHLUX HWERKZA *=
Sl 240 BTAHA 25 (S &2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
4H 626,248 643,133 AN 16,885
e+ FHAX UWERKZA 25 548,848 561,913 A 13,065
a0 HHAMH A 23S 548,848 561,913 AN 13,065
HHMH A B2 232,060 238,582 16,522
101 @121l 48,059 42,143 5,916
04 JI2ZtH 22 XNEE 48,059 42,143 5,916
OTHAEAN 2l 22Y 1,675
OoAZZR =Y SZIH L A2 AH
ol 20,638
—-J|I=23 69,760 *1H x26 2 x 10 & 18,138
— 40 BE & 2,500
O =SX3 & L ASA 22| o1AHH| 25,746
- J2=s 69,7603 x252 «1H 17,580
- REF=FY 69,7603 x52F 1 3,628
— Xz 69,760& x 12 x1H 838
— @& SO 600,000& 23| x1H 1,200
— 4028 = 2,500
201 2yt 2 Y| 183,501 174,939 8,562
01 AFR2t2l bl 43,496 42,448 1,048
O&JI2Ed=E & M2 A== 2,080
OMRIID 89 428 7 8,400
OM=Ia 223 #Y 3,600
OANRES ¢ 2,400
OFEALI JIAF ZAZS S 2,016
OZFHNMEsE & HOI20tM =+ 3,000
OMSBA HHAEH Ha 1,000
O2x+H 23t AL 20,000
O3z E&24 1,000
02 33249l 140,005 132,491 7,514
OFANLE 1,200
OM=RA IR 6,000
QJ2s HIIe=2(2) 61,509
QIRE FIR2(E) 26,040
OAMEIRA IHSsSEHIANE S22 1,416
Oadt=22 1,400
SESE €522 4,200
OM=RA RS 2,000
OFA MIUHEHEH =2 70,000& 23] 140
O2832 A2 6,000
OFAXY SA22 19,000
OMetHIlE Hel ==& 4,000
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A a0
Hu: Q40 HOKNX WEHD 75
Sl 240 BTAHA 25 (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
ORM 2elo Bz (e4E)
50,0003 x1H =128 600
HoHog =ol=& oiZ 150,000 148,000 2,000
201 £B-2dH| 20,000 18,000 2,000
01 At 22l 20,000 18,000 2,000
OTHolf oigs & =237 FHHl X2 10,000
Of&E== MAH EH Xz 10,000
401 AIEHI L 2] 130,000 130,000 0
01 A& tl 128,596 128,596 0
Oga ot B3 A 9,892
Od=cl SZMLAE 19,784
O2d 22 HHISA 14,838
OUE EE=+2 HHIZA 19,784
O+& =2 HHIZA 19,784
OYH THoH ol &AL 29,676
O=F& X7 THH Ol & AHS 14,838
03 Al 20 HI 1,404 1,404 0
OTHoH 0l & FRI=sJALS 1,404
22 THoH ol & 50,000 40,000 10,000
401 A& HIZ 201 Y| 50,000 40,000 10,000
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O27 2 THOH O &AL 49,460
03 Al =2 THHI 540 432 108
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201 Let24d] 24,700 24,700 0
01 At 22/l 20,700 20,700 0
ogd gR=d 15,552
OHA ARFA(SHIl) 3,888
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02 =224l 4,000 4,000 0
OFASA & 2e] 4,000
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02 M0 35,040 39,120 A 4,080
oz 200,000& x 18 128 2,400
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N = 0l & At & Ml A

SN A
M e HFOHAX WEHIT =5
Helr AEH HHANH A 23 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
e 319,048 343,260 N24,212
SEH HUAUX WENID = 263,488 258,060 5,428
AEH HBMHA 25 263,488 258,060 5,428
HEAMHIA 2229 73,608 64,180 9,428
101 @14 dl 2,000 2,000 0
4 D12t ZE2XREES 2,000 2,000 0
OBHEAL & EXs2 =HIY 22
100,000 »221x 10 2,000
201 LBt 71,608 62,180 9,428
01 At 22l 15,984 9,716 6,268
O&JIIZAEE Y ME F=3 450,000& 42 DI 1,800
OMEIIIl 28 A5 7l
1,000,000& 42 | 4,000
OAMEES el 5,000,000 » 14 5,000
OREHIAE SA2clh 118,000& =128 1,416
O3J18EI MEZ 126,000& =128 1,512
O&=DJ & Hld MEZ 128,000& 128 1,536
OFEA HHHD| MEH =2 120,000& *6CH 720
02 =224l 55,624 52,464 3,160
OFAL &=l 240,000 x53| 1,200
OMEH HIIR=S 700,000& +x12& 8,400
OJXlzs dJIea 2,500,000& x12& 30,000
O=2Xsl& 8123 170,000& =128 2,040
Oot=Ex3 60,000& x12& 720
Oz 253 500,000& x4=2 | 2,000
Oadgsle |Al2el 4,000,000& x 14 4,000
OXEFE=NINE SR 22 4,000,000& 14 4,000
OFAL & =X3l2 24 2el
3,000,000& x14 3,000
OREEs AIEE 22,0003 +12& 264
Fo @l MEsd o 49,880 55,880 A 6,000
101 @14 Hl 25,000 17,000 8,000
04 DIt Z2Z2XNHEE S 25,000 17,000 8,000
Ot & =28 2Z XY 0FY 20,000
Os0&E &28 EHID =2y 5,000
201 L2 | 5,500 9,500 4,000
01 At 22/l 5,500 5,500 0
Oonts & &2H ZZ X4 UK
550,000 »1CH*10 5,500
206 = Hl 10,000 3,000 7,000
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2N
X ZH -
L= B

el

FHIX HWERZA 7=
HHNHI A 23

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 M= 4l 10,000 3,000 7,000
ot ¥ =29 Z2ZX4 M=+ 10,000
301 LA F 4,380 4,380 0
01 MEIBEE 263 4,380 4,380 0
O HddE ALY 4,380
401 AIEHI L 20HEI 5,000 22,000 A 17,000
01 A& Hl 5,000 22,000 A 17,000
OfIg+== MAH K& 5,000
THOH Ol & ==0l=3& of& 110,000 108,000 2,000
201 Let24] 10,000 8,000 2,000
01 At 2t 2l 10,000 8,000 2,000
O ol & =37 FH Xz 10,000
401 AIEHI L 201 100,000 100,000 0
01 A& HI 99,100 98,920 180
OutleH s2 % M&E ZHISAM
30,000,000 *99. 1% 29,730
OXNE s2ZEH3I3A 10,000,000& *99. 1% 9,910
OADl Bi==2 HHIZA 8,000,000& x99. 1% 7,928
O=¢g ofd SUO0IZA 7,000,000& %99. 1% 6,937
O=& =sti=2 FHI2A 15,000,000& *99. 1% 14,865
O=8t 4A5td HHISA 10,000,000& *99. 1% 9,910
Od4lEel Aotd FHIAFZ 10,000,000 *99. 1% 9,910
OWE AdtA HHIZA 10,000,000 *99. 1% 9,910
03 A2 2 0HHI 900 1,080 A 180
OMdHoe =2l=& diZ 100,000,000& *0.9% 900
22 THOH ol 2 30,000 30,000 0
401 Al HI YL 201 30,000 30,000 0
01 A& HI 29,676 29,676 0
OL72 THH Ol AL 30,000,000& *98.92% 29,676
03 Al S THHI 324 324 0
OL72 THOH Ol AL 30,000,000& *1.08% 324
HY2IZH (AEH) 55,560 85,200 A 29,640
Jl2Z3l 55,560 85,200 A 29,640
MEH J=2Z 55,560 85,200 229,640
201 Let24E] 14,040 19,040 A5,000
01 At 22l 14,040 14,040 0
OHE gR=& 11,232,000& 11,232
OME YRFN(SHl) 2,808,000& 2,808
202 044l 30,000 30,000 0
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A set
B SRR (M)
@2 Jl2&tl (e &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
01 2LHHI 3,120 3,120 0
OHHE gRFA 240,000& *13H 3,120
02 S HN Y| 26,880 26,880 0
OHE 200,000& x1H x12& 2,400
OfHE 0ldt 170,000& x 12 = 12& 24,480
203 R =&lY| 10,520 10,160 360
01 J|22I PR =AY 7,000 6,600 400
o4 7,000,000& =1 7,000
02 d R R =AY 520 560 AN40
O Jtat 40,000 *13H 520
04 ENESIHRF=AY| 3,000 3,000 0
OfMed 250,000& x12& 3,000
405 XHakF SHI 1,000 26,000 A 25,000
01 A&t = S F SHI 1,000 26,000 A 25,000
OHE g2RFA 1,000,000*14 1,000
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N = 0 &8 AFH Y & A AN
20218 = 20l A LB H LAS ~ XIATH
AN AAHH
& AN FOHUX UWERKZA #*=
Sl AN BHAHA 23 (S &2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
A A 305,684 317,448 N11,764
AHH FHAX WERKZA 25 247,124 259,248 N12,124
AHH S SHA AMHIA 23S 247,124 259,248 N12,124
HHANHIA 2229 74,274 74,398 N 124
101 @121l 4,000 4,124 N 124
04 JI2ZtH 22 XNEE 4,000 4,124 N 124
OTHAEAN 2l 22Y 4,000,000 4,000
201 LBEt2H Y| 69,774 69,774 0
01 At 22l Yl 11,000 11,000 0
OFINZLHE L ME SE  450,000& *42 | 1,800
OMBRIII 2248 23 1,000,000& x4= 7| 4,000
OANRES #*¢ 800,000& *4Z D 3,200
OMRE 228 22 ¥ F2¢
500,000& x4 2 J| 2,000
02 3524l 58,774 58,774 0
OARa I3 500,000& *12& 6,000
OXdfzs dIIe3 7,140& #3655 x12& 31,274
ORo&HEH AHHlA 223 150,000& = 12& 1,800
Oate 23 100,000& = 12& 1,200
ORdgds =48 23 25,000& = 12& 300
O&EXE A2 5,000,000 5,000
OsSXAE A2 4,000,000& 4,000
Ozks+HE 500,000& 500
OREE L5223 200,000& x12& 2,400
OANR 4 SFH 2,000,000 2,000
OFA EIIEH & EA 100,000& x13] 100
OFANLS 1,200,000& 1,200
OAl&&EH A2l 3,000,000 3,000
301 et X Z 500 500 0
09 HALAHIXI &= 500 500 0
OZFLHHZ S ASTAHA =& 500,000& 500
FOIEHS MEEH A 27,850 41,850 A 14,000
101 @121l 14,650 14,650 0
04 JI2ZtH 22 XNHEE 14,650 14,650 0
OBLXH ¥ BSRNB2 o2
1,000,000& *x23] 2,000
OHacEzZ EHI E A2 AR
1,500,000& *x23] 3,000
OdtadH ==sHH &L EHJ] o2
2,000,000& x23] 4,000
Os&tg 3Hl o2d 2,000,000& *23| 4,000
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AN HAHH
B MHE BONK UENT 75
Crl AP BEAHIA 25 RED
= _ — d =
SA - B (SA) - MRAY - BYS e 2
OZ3Z2AML (U2, SSSHEA, 5JLIH)
Fa 2 68,7203 x1H »23| «12& 1,650
201 ¢er24] 1,000 5,000 A 4,000
01 AF22t2l bl 1,000 1,000 0
OglEda2 2t 1,000,000& 1,000
206 M= Hl 8,000 6,000 2,000
01 MHZ 8l 8,000 6,000 2,000
OZ2Z =4 M= 2,000,000& »23] 4,000
OslYZd & 233 HEZ AN M=
2,000,000 22 4,000
301 LeHBAF 4,200 4,200 0
01 Ml28E 6= 3,000 3,000 0
Ox=2S i HIL2 HAAY 3,000,000 3,000
12 JIEEd = 1,200 1,200 0
Ostgel Az 2ele 243 50,000& x12& 600
OSHHF &2 Bz 50,000& 128 600
THoHoe =ol=& oiZ 115,000 113,000 2,000
201 ¢er24| 15,000 13,000 2,000
01 AF22t2l ] 15,000 13,000 2,000
OMofioe =2l=3& &bl 2t 10,000
OfIg+== MAXNE FH Xt 5,000
401 AIEHI L 2CHEI 100,000 100,000 0
01 A& HI 98,920 98,920 0
OtENS sZ2ZZZF3 A 10,000,000 %98.92% 9,892
O=d0tS =2 HHISAM
20,000,000 *98.92% 19,784
OWEOES S22 FHISA
15,000,000 *98.92% 14,838
Odi=20t2 JL2 SFEHIA
10,000, 000& *98.92% 9,892
O8X0E Et=2 I SA
15,000,000 *98.92% 14,838
Oat=0t2 =2 HHISAM
10,000,000 *98.92% 9,892
OMADE =2 HHISAM
10,000,000 *98.92% 9,892
OAMR0tE 22 ZHISA
10,000,000 *98.92% 9,892
03 A& S THHI 1,080 1,080 0
OMofog F=el=a At
100,000, 000& *1.08% 1,080
22 THOH ol 2 30,000 30,000 0
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2N
X ZH -
L= B

el

X HWEHZA #*=
IMHIA 23St

=
o)
0% Oi
=

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
401 Al& Bl & 28I 30,000 30,000 0
01 A& HI 29,676 29,676 0

O27S2 THoHME A 30,000,000 *98.92% 29,676
03 A2 S THHI 324 324 0
OLA2 THoHOIE AH 30,000,000& *1.08% 324
HY2IZH (AAHH) 58,560 58,200 360
Jl23&dl 58,560 58,200 360
S Jl=Z 58,560 58,200 360
201 Let24d] 17,040 17,040 0
01 AP 2teltl 14,040 14,040 0
OHE gR=& 11,232
OHE ARFX(SHI) 2,808

02 23=24gl 3,000 3,000 0
OFARA & 2e] 3,000

202 O4dl 30,000 30,000 0

01 = LHA YI 3,120 3,120 0
oy gR=d 3,120

02 N 26,880 26,880 0
osd 200,000& x1H 128 2,400
OfHZ Olot 170,000 =12 »12& 24,480

203 R =& 10,520 10, 160 360

01 J22FHRF=EI 7,000 6,600 400
oJ1229 7,000

02 It =&Y 520 560 240
OF A It 40,000& x13H 520

04 FN2ELRZ=TH| 3,000 3,000 0
ORAN2Y 250,000 128 3,000

405 TtHabF S| 1,000 1,000 0

01 AL EFH S 1,000 1,000 0
Ous g2Fx 1,000
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N & o & AF & H Al A
20218 & =04k LBHSIH LAS ~ NAH
SN BEY
dM: 2EH FOHAMX WERKZT 2=
Sl BEY BTAHA 2 (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
=S 490,671 475,153 15,518
2EH FOHAX WENID 2= 412,171 395,773 16,398
HEH HZIMHIA 23S 412,171 395,773 16,398
HEAMHIA 2229 117,071 111,133 5,938
101 @14 dl 2,791 2,749 42
4 D12t ZE2XREES 2,791 2,749 42
OBEA 2| o2 69,7603 x 1«40 2,791
201 Lt 2| 114,280 108,384 5,896
01 At 22/l 24,200 19,808 4,392
O&FE@AXIIAL =4 = 2Hl 8,000 «232 12 2,208
OFIIUHZ L M2 7S5 450,000& 42| 1,800
OMEIIDl 28 4235 7¢
1,000,000& »12& 12,000
OMEES ¢ 200,000& »12& 2,400
OFA & FA2e 85 #& 100,000 128 1,200
OXs3HIAE |22 120,000& =128 1,440
OF=PNE= 240,000& x53| 1,200
O&EAN HIIAEEH =2 100, 000& *23| 200
O3JI&8FI MEZ 146,000& 128 1,752
02 2324l 90,080 88,576 1,504
OMBA &HIIRS 800,000& »12& 9,600
Oz Hlles 4,000,000& x12& 48,000
OsXsdHL S IR
200,000& »12& 2,400
O=ER= 200,000 122 2,400
OREesER=s 15,000& = 12& 180
ORu= 253 200,000 128 2,400
OAdgsale A2 4,000,000 «3CH*1 12,000
OF3AXE HXZe 8,000,000 »1CH*14 8,000
O=XxE A2 4,000,000 x1CH*1H 4,000
OsgoaLzI SAE=H 1,100,000 =1CH 1,100
FoEO MEsH M 79,100 82,640 A 3,540
101 @124 dl 20,500 25,000 24,500
4 D12t Z2XREES 20,500 25,000 A 4,500
OOtELE AHel d&xd Ry
5,500,000 » 14 5,500
Oct&E EHJ|l =2 1,000,000& 14 1,000
O«tzz z2g| 912 1,000, 000& =1 1,000
OBk 2l sHEEZ EHID ¢FY
5,000,000 » 14 5,000
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SN BEY
dM: 2EH FOHAMX WERKZT 2=
Sl REY BIMUA 25 CEEEED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Ouel 2E2z2 2ol o=y
8,000,000 » 14 8,000
206 M= Hl 45,000 24,000 21,000
01 M= 4l 45,000 24,000 21,000
Ootst2 Hel d2xd Mz ¢
40,000,000& » 14 40,000
OReH M4HM2 XY M2 7Y
5,000,000& »14 5,000
301 LEd = 3,600 5,640 A 2,040
01 Ml2ZE 6= 3,600 5,640 A 2,040
O XItE &2 gAAY 3,600
401 Al HIZ 201 bI 10,000 18,000 A 8,000
01 A& HI 10,000 18,000 A 8,000
OfEg+== MAH K& 10,000
THoH ol =ol==& o Z 130,000 130,000 0
201 Let24d] 10,000 10,000 0
01 At 22l 10,000 10,000 0
OXoll oilegr & =7 &bl SX=
10,000, 000& 10,000
401 AIEHI L 2 CHYI 120,000 120,000 0
01 A& HI 118,704 118,704 0
OXg=E MAEZH SA 20,000, 000%98.92% 19,784
OY=el =2 FBIS At 15,000, 000%98.92% 14,838
OE20I2 sZZFSA 15,000, 000%98.92% 14,838
OCEgd s2EZFHIA 10,000, 000%98.92% 9,892
OE 0SS =2 FHI3 At 15,000,000%98.92% 14,838
OE40tE =2 FHI= 15,000, 000%98.92% 14,838
Ozls &0I0tS =24 XS A
10,000, 000%98.92% 9,892
Ogel =2 =& 3 A 20,000,000%98.92% 19,784
03 A2 2 THHI 1,296 ,296 0
OMdHHE F=2I=J A  120,000,000& *1.08% 1,296
=39 & 2229 30,000 ,000 4,000
201 £B-2dH| 21,000 ,000 0
01 At 22l 5,000 ,000 0
Ozste & 2el 5,000,000 » 14 5,000
02 2324l 16,000 ,000 0
O=sto & 24 16,000, 000& » 1 16,000
301 EEd = 5,000 ,000 0
12 JIEtE& = 5,000 ,000 0
OFstel & T8 29Hl 5,000,000& 14 5,000
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SN BEY
Mo BED FOKNK UEYD 75
Helr 2EH HIANH A 23 (&)
SN BA(SA) - MRAY - BES il HImEET
405 XHoHF S HI 4,000 0 4,000
01 AL ESFH S 4,000 0 4,000
Ozste & 23J17 2 4,000,000& 4,000
QAXEH 29 6,000 6,000 0
201 L4l 6,000 6,000 0
01 At 22l 1,200 1,200 0
OFQUXXIHE 2tel 1,200,000& 14 1,200
02 =24l 4,800 4,800 0
OFLUXXEEH 29 4,800,000& 1 4,800
12 THoH ol g 50,000 40,000 10,000
401 Al HIZ 201 I 50,000 40,000 10,000
01 A& HI 49,460 39,568 9,892
OL72 THH Ol AL 50,000, 000& *98.92% 49,460
03 A& =2 THHI 540 432 108
OL72 THOH Ol AL 50,000, 000& =1.08% 540
HY2IZH (HEH) 78,500 79,380 A 880
Jl23&dl 78,500 79,380 A 880
2EH I 2 78,500 79,380 £880
201 2et24d] 25,760 24,820 940
01 At 2teltl 20,760 20,820 260
OHE gR=& 15,552,000& =1 15,5652
OdE YRFN(SHl) 3,888,000 =14 3,888
Ogax=d 60,0003 1 22 1,320
02 =224l 5,000 4,000 1,000
OFASA & 2el 5,000
202 01 Hl 39,120 41,400 A2,280
01 = LH o4 1l 4,080 4,320 A 240
OgHd ge=a 240,000& x17H 4,080
02 M0 35,040 37,080 A 2,040
osa 200,000 x1H «12& 2,400
O8dHZ Olst 170,000& 16 x12& 32,640
203 ¥ S =&l 12,620 12,160 460
01 JIZ2Z YR8 7,500 7,000 500
oJza2d 7,500
02 3t =2 920 960 A 40
OZ &ALt 40,0003 »23H 920
04 FEANSEHE=LH 4,200 4,200 0
ORNEZ 350,000& 128 4,200
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2N
X ZH -
L= B

el

0N oY 0¥
A A
R

0% Oi

FMHIA 2 et

OXXl WESRZA 7=

5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
osXza 28 7 200,000& »12& 2,400
02 2324l 28,200 4,000 24,200
O=sXlga 29 & 22l 2,000,000& x12& 24,000
O=sXzg 2 s2J sX2eld 130,000 128 1,560
OSXE 2 HINHEY 48
110,000& * 123 1,320
O=2Xsl& 248 =2 110,000& *123] 1,320
206 M= Hl 12,000 12,000 0
01 M= 4l 12,000 12,000 0
OZ&xd Mzl 12,000
301 LEXZ 4,320 4,320 0
01 MEIBZE 06z 4,320 4,320 0
Ok JIHEYE LAY 4,320
401 AIEHI L 201 5,000 15,000 210,000
01 A& HI 5,000 15,000 210,000
OfIg== MA 5,000
HoHolg =gl=& oiZ 110,000 108,000 2,000
201 £B-2dH| 10,000 8,000 2,000
01 At 22l 10,000 8,000 2,000
OMoHo e & =27 ZH IX= 10,000
401 Al HIZ 201 I 100,000 100,000 0
01 A& HI 98,920 98,920 0
OYs0tS THOH G &AL 10,000,000 *98.92% 9,892
=0t THoHOI & ALS 10,000,000 *98.92% 9,892
O8=0t= THHOU &AL 10,000,000 *98.92% 9,892
OO0I=0t= THOHOIZ ALY 15,000,000 *98.92% 14,838
O&IDI0tS THOH G &AL 15,000,000 *98.92% 14,838
SHE20tS THoHOl 2 AR 10,000, 0003 *«98.92% 9,892
O=20t= THoHM &AL 15,000,000 *98.92% 14,838
O=2Z0t= THoH & ALY 15,000,000 %98.92% 14,838
03 Al 2 THHI 1,080 1,080 0
OTHoH ol =0l= A& 100,000,000 *1.08% 1,080
28 THoH ol & 30,000 30,000 0
401 A& HIZ 2018 30,000 30,000 0
01 A& HI 29,676 29,676 0
O2x7 2 THOH O &AL 30,000,000 *98.92% 29,676
03 Al 20 HI 324 324 0
OL72 THOH Ol AL 30,000,000& *1.08% 324
=g 249 34,800 51,544 N16,744
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> A
A & 0l & A & F Al
20218 & =04k LBHSIH LAS ~ NAH
HOUHAX WERI *=
HEMHIA 23t (9 ® =)
= _ — d =
CHB - BI(BH) - NN - B 0l &t o il HImEET
SxH 315,746 309,282 6,464
SXH FHIAX WERKIT =5 257,186 251,082 6,104
SXH dEAMHA 235 257,186 251,082 6,104
HEAMHIA 2229 78,266 77,882 384
101 @14 dl 9,000 9,000 0
JIZtH22UHsE+ 9,000 9,000 0
OBFX TTHIA RXBEl A=Y
9,000,000 x14 9,000
2Bt | 68,666 68,282 384
AtS 22l 10,000 10,000 0
OAMBI1Dl 28 ABF #¢&  7,000,000& 14 7,000
OFJItdE & M2FR=Z 500,000& *4=2 2| 2,000
O&X 2334 A2
1,000, 000& 1 1,000
S22l 58,666 58,282 384
O&EAMNA=HI 1,200,000& 14 1,200
OMEH XIS 700,000& x12& 8,400
OJNzs dIIR3 7,300 *3305 123 28,908
O=X3sl& 8IS 400,000& 123 4,800
osXza 234 2,000,000 »14 2,000
O3 60,000& 123 720
OXSZHIAIE |X2e 120,000& »12& 1,440
ONWAIEZ 16,500& =128 198
OSEE &5R23 150,000& = 12& 1,800
OAMEHY RFH 1,000, 000& 14 1,000
OFAL HIItHFH =2 100,000 =23 200
O2EXE FA&2c 5,000,000& 14 5,000
OXEFAL(XEE =X
3,000,000& x14 3,000
R 600 600 0
HALAHIXI &2 600 600 0
OZZEY3ES ASHA = 600,000& x13] 600
ol Magd o 33,920 30,200 3,720
jeilal.]l 6,120 6,120 0
JIZtHN=22HsE+ 6,120 6,120 0
OZ2Zx4 22¢ 3,000,000 x 14 3,000
Oct&E 2t =2 130,000& 8 32 3,120
M= dl 4,000 4,000 0
NETT 4,000 4,000 0
OZZx4d Mz 7¢ 4,000,000& » 14 4,000
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fAM: EXH
M dxH HFHAX WEHIT ==
S

SHol: XS BIAHIA 23 (crl ®a)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
301 LEHZ 3,800 4,080 A 280
01 MI2ZE+5l= 3,800 4,080 A 280
Ok IHEYE ALY
950t 72 +23 20,000 3,800
401 Al& Bl & 28I 20,000 12,000 8,000
01 A& Hl 20,000 12,000 8,000
OEXH Zi0ts 22 ZEAMY 20,000
THoH Ol & ==0l=3& ofl & 115,000 113,000 2,000
201 LBt2E | 10,000 8,000 2,000
01 At 22l 10,000 8,000 2,000
OMdioeg & =2 HH X2
10,000, 000& » 1 10,000
401 Al& I 28I 105,000 105,000 0
01 A& HI 103,920 103,920 0
Of/E+=S MAHXE 5,000,000& =14 5,000
Ozl=2cl THoH ol AL 10,000, 000& *98.92% 9,892
=222l THoHu AL 20,000,000& *98.92% 19,784
Ogscl THol ol AL 15,000, 000& *98.92% 14,838
O&E el THoH ol AL 15,000, 0002 *98.92% 14,838
O&E el THoH ol AL 20,000,000& *98.92% 19,784
SR0tS THoH O ZAF 20,000,000 %98.92% 19,784
03 A& S THHI 1,080 1,080 0
O =0l=g35Hz& 100,000,000 1.08% 1,080
A2 THOH o & 30,000 30,000 0
401 AIEBIZ 201 8I 30,000 30,000 0
01 A& HI 29,676 29,676 0
OL72 THOH Ol AL 30,000,000& *98.92% 29,676
03 Al 2 THHI 324 324 0
O27SE THOH M &AL 30,000,000& *1.08% 324
HY2AZH (DXIH) 58,560 58,200 360
Jl23tl 58,560 58,200 360
SXIs JI234 58,560 58,200 360
201 LBH2d| 17,040 17,040 0
01 At 2t 2l 14,040 14,040 0
OHE g2=2 11,232,000& =14 11,232
OHE ARFA(SHl) 2,808,000& x14 2,808
02 3323l 3,000 3,000
OEMKA &L 22 3,000,000 x 14 3,000
202 oddl 30,000 30,000
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2N EXH
M HMSAHH (DXH)
chel: Jl=2 A (29 & 9)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
01 2LHHI 3,120 3,120 0
OHHE gRFA 240,000& *13H 3,120
02 S HN Y| 26,880 26,880 0
OHE 200,000& x1H x12& 2,400
OfHE 0ldt 170,000& x 12 = 12& 24,480
203 R =&lY| 10,520 10,160 360
01 J|22I PR =AY 7,000 6,600 400
o4 7,000,000& =1 7,000
02 d R R =AY 520 560 AN40
O Jtat 40,000 *13H 520
04 ENESIHRF=AY| 3,000 3,000 0
OfMed 250,000& x12& 3,000
405 XHakF SHI 1,000 1,000 0
01 A&t = S F SHI 1,000 1,000 0
OHE g2RFA 1,000,000& 1 1,000
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Al £ Ol & AF & & Al
2021H = =0l &k LB A LAFT ~ RAH
A XA
g AMHE F0HIX WEHIA 7=
SR NAtE HIMHIA 25 Chel i &)
A - ER(EN) - AR - B of & o4 SSa HIDZ2
KA 309,488 323,115 A13,627
ANAHH HFHXX WERHT = 250,928 264,915 213,987
KA HEMEIA 235 250,928 264,915 A13,987
A AMHIA 2229F 75,238 75,225 13
101 @12 bl 838 825 13
04 DIt 22 XS+ 838 825 13
OHIAN H2l oY 69,7603 x 1 x123] 838
201 LBt2 73,800 73,800 0
01 At 22l bl 14,200 14,200 0
O&FJindEs & M2 =28 400,000& 42| 1,600
OAMEI1Jl 28 22F F2  500,000&12& 6,000
OBARx =Dl MEBE 50,0008 x12& 600
OJIEtAtR 22l I 6,000,000 =14 6,000
02 3324t 59,600 59,600 0
OFAA= 1,200,000& 1= 1,200
OAMEA HIIRS 1,000,000 =12 12,000
Ooxnzs dJles 2,500,000+ 12 30,000
ORABHIAIE S22 100,000& ~12& 1,200
Odot+= 2= 400,000& 12 400
ORdgs MEZ 200,000& 1 200
Oz &€&5R= 200,000 =12& 2,400
OFA HIIUHEH =2 100,000& 23! 200
Oxdsts RX2 5,000,000& =1 5,000
O=Xzla 24d2e 3,000,000 «1¢& 3,000
OXEE XX |FX22 4,000,000 1 4,000
301 LetEA= 600 600 0
09 SAHAIHIXI 2 2 600 600 0
ORHEYS S 25 YA =7
600,000& 1 600
FolEe dasd e 30,690 46,690 A 16,000
101 @12 bl 14,170 14,170 0
04 DIt 22 XS+ 14,170 14,170 0
Ok ZHIIl o= 2,600,000& *23] 5,200
OstetR A 2el 92 1,950,000& 1 1,950
Ootd ZHIJl 9= 1,950, 000& *23] 3,900
OS&z U Az Bl o2
1,300, 000& *23] 2,600
O3.15¢ SHIJI&HY =2 520,000& 12 520
206 M =8l 1,000 1,000 0
01 =l 1,000 1,000 0
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2N
X ZH -
L= B

el

Xl
N
Xl

AtEH
ArEH

AtEH Al A

FHIX HWERZA 7=
SH X

25t

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
ostet&e M 7 1,000,000 x14 1,000
301 dEtE M= 5,520 5,520 0
01 Al B & A 462 3,120 3,120 0
=g A JIEYUE SHAAY 3,120,000 =1 3,120
12 JIEtE A2 2,400 2,400 0
OAME (gd , =2dH )220 BAZ
100, 000& 2 x123| 2,400
401 AlEHIZL 201 Y| 10,000 22,000 A 12,000
01 Al&H| 10,000 22,000 A 12,000
OMA-2A2 @4 M BUAXA
10,000,000& 10,000
Moo == & 115,000 113,000 2,000
201 et d| 10,000 8,000 2,000
01 AFR 2t 2| bl 10,000 8,000 2,000
OMatioeg & =57 & i
10,000,000& =14 10,000
401 Al HI L 2 0HHI 105,000 105,000 0
01 Al& H| 103,920 103,920 0]
OE& 0I22+Z HUl 3 A
10,000, 000 x98.92% 9,892
O=240tE 2F MHEZA
15,000, 000 x98.92% 14,838
OHEOIS THOHOIZEAIE 10,000,000 x98.92% 9,892
Ood0ot= Mool BEAFE 10,000,000 *98.92% 9,892
O=2A0tS THAHOIEAIE  10,000,000& x98.92% 9,892
OAFEOIS Mol BEAFE 10,000,000 *98.92% 9,892
OOtatel THoH ol & AF 15,000, 000& *98.92% 14,838
OH L2l THOH Ol & AFS 20,000,000 x98.92% 19,784
OfIgs+s MAHXA 5,000,000 =1 5,000
03 Al& 201 Y| 1,080 1,080 0
OMaliolgr =2=& AL 100,000,000& *1.08% 1,080
A2 THGEH ol g 30,000 30,000 0
401 AlEHI 2 2 0HY| 30,000 30,000 0
01 Al&Hl 29,676 29,676 0
OATFE THOHOl BEAFY 30,000,000 x98.92% 29,676
03 Al 21| 324 324 0
OAMTFHE THOHO BFAFS 30,000,000& x1.08% 324
SHE2HAH|(KIAFH) 58,560 58,200 360
Jl2&ddl 58,560 58,200 360
XAFH D2 | 58,560 58,200 360
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S XA
Ha: Y2 YA (KA

& 123l (&)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS

201 ¢er24| 17,040 17,040 0

01 ArR 22l 14,040 14,040 0
oy gR=d 11,232,000& =14 11,232
OgE RFX(SHl) 2,808,000 x14 2,808

02 =524l 3,000 3,000 0
OFASA & 2e] 3,000,000& =14 3,000

202 044l 30,000 30,000 0

01 SLHOYI 3,120 3,120 0
OgHdE ge=a 240,000& »13¥ 3,120

02 M0 26,880 26,880 0
osa 200,000 x1H «12& 2,400
OS¢ 0Ict 170,000& «12H 128 24,480

203 YR =] 10,520 10,160 360

01 JIZ2Z YR8 7,000 6,600 400
oJzaz2d 7,000,000& «14 7,000

02 §3 ety =2 520 560 A 40
OF A Jtat 40,000& x13H 520

04 EAS2IYRFLH| 3,000 3,000 0
ORNEZ 250,000& =128 3,000

405 TtabH S| 1,000 1,000 0

01 AL EZFH S 1,000 1,000 0
oy gR=d 1,000,000& 14 1,000
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